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................ these
18) BP in largest vein(vena cava) of the h:)d;:fmmHg d) none of
a) 2 mmHg b) 10 mrnHE e AR ) sl
19) Blood supply to the brain during & 400 mm/min d) none
Samp. - i ?l : ted in the wmes?
' e e i jcular septum
20} The fmgr::nt:::];: in the feta Sty adiiin c) mt&rvefntt,::;
d

ad!,l?:xgteratrial septum ¢) pulmonary trunk f) none o
21) Cardiat muscles are: Anione

a) striated b} involuntary c) both
22) In fishes the heart pumps:

a) pure blood to body

b) impure blood to body

¢) pure blood to gills c}j pure blood to gills
23) Congenital defect in which complete chamber is absent is called..........?

a) myoplasia b) cardioplasia ¢} hypoplasia d) none of these
24) Lymph mixes with the blood in ....................7
a) brachial artery b) sub-clavin artery
¢) carotid artery d) none of these
25) crororimrsnnns ISfare large lymphatic ducts?
a) right lymphatic duct Dithorasic duct
cjbothaandb d) none of these -
26) Which of the f:::owing is the largest lymphoid tissues?
a) liver kidney c) spleen d
Aot ; an

27) Which of the following is included in Ay valve? Paichbe

a) aortic valve b) mitrial valve

¢} pulmanary valve d) both a and ¢
2B) A condition in which the artery is thickened ang

a) arteriosclerosis b) a:‘:::"“-d by t_hoiesterol Is called:

c) thrombosis d) Emb;;SClEFQEB
29) When semilunar Valve is closed, i SOUNG jg p,-i::'
30) p:.L':Eg denser bload e Lboth 2 and cﬁ::

n
ey C2uses the heart to pe strained ang € of these
o) excass s 1P Cause f these problemgy ¢ PTOUUCtS become
55 of water ms

) ﬂﬂﬁdﬂnﬂf of QHEEI'I. h} dEﬂCiE“{'f of mi
31) Ventricle is contracteq in d) dehydratign, - 2

)03 o~ Yeconds?
32) The blood fiow in mili-fiter €)0.8

3) 1500 m) S/minute dring exercise tq : ) none

: b) 1600 m| the skin js. of these
33) Minimum speed of blgod is found | <) 1800 m =

3) 40 mmHg b) 20 mmug | oPHaries which | d) 1900 ¢y
34) An::;mnmb;l ® tissues js: €102 mmg d]:
areclar tissyeg b One of ¢
35) BF in the capillaries g .....-...,_I,Fe?"dbn c) Neuran hEsg
= ) 20 mmHg by m L d) ligam
YV 2 new born baby possess, Loy €) 02 mmpy S

condition may pe: XY hemogIobin jng, d

a) embolism B et ®ad of the UWh:,-:ﬂ MmHg

fOsclergsis o) SYanogs Oglobip, the

PE 62
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Golden Series Biology MCQs of Sir Yasir

+7) Average ap in the Artries IS coonemenirn
4 102 mmMg b} 100 mmHg ¢} 120 mmHg d) 02 mmHg,
1) In £CG the T-wave shOWS..ooeeie e,
;) relaxation of auricles b) contraction of auricles
) contraction of ventricles d) relaxation of ventricles
19) Coloration of the skin of 2 baby turns biuish <hortly after birth. The reason may be:
3} increased |evel of anesthesja was administered to her mother
p) the biood pressure (s very high
¢) baby has an unclosed foramen ovale
d) some hormonal disturbance has caused discoloration
¢} biood capillaries in the liver are oot wacking efficiently
f) all of these
40} AN node is 3lso called
&) natural pacemaker b) artificial pacemaker
¢) primary pacemaker d) none of these
41) Diameter of venules is o TG e
3} B-10pm b} 8-100umc) 10-100ym  d)20-100um
47) Tunica interna of artries is cOMpoSen Of wmm epithellum?
2) squamous b) cuboidal ¢) columnar dy none of these
43) pre-capillary sphincter is found at the region where!
2} anteries divide into artericles b) venules divide into capillaries
¢) arterioles divide Into capitiaries d) arterioles divide into capillaries
44) Edema mostly occur due to the damage of:
a) mitral valve b) AV valve c] post capillary s phincter d) none
&5) How many valves aré found in renal artery?
a) one b) twe ofour d} none
46| High pressure baroceptors are found in: :
a) right auricle i) aartic arch ¢) both d) none
£7) Doutle circult Gircutatory system is absent in:
a) amphibian b) reptiles c) birds d} none
L [, .. supgplies the oxygenated blood to the intestines?
a) mesenteric b} jugulac c) carotid d) none
49) The oniy vein in the body which divides into capiliacies is:
a) portal vein b) hepatic portal vein c) both dj none
50 The vein which carries bload from the leg region is:
2} iliac vein b} mesenteric vein ¢l inferior vanacava d) jugular vein
$1)Which one is not included in double circuit circulatory system?
ke a) pulmonary circuit b) systemic circuit ¢) both &) none
embryonic stage which circuit i functional?
53'-Th:m 1) systemic c) both d) none
ery which carry blood towa rds the brain is called ..o artery?
5“"-'?1:] internal femoral  b) jugular o carotid o} thoracic
mixing of oxygenated and deoxygenated blood oceurs in the heart of:
55 whg“;p‘hlm Spreiie | - cipoth d) none
delay the impulse until the auricle completely contract?
8) SA nod b} AV nod
©) Natural pacemaker @) artificial pacemnake
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__ ate of & b;zOmmIsec ¢} 25mmysec d) nane

~ 11T 13 "'i.‘.'u.lf‘d i-n:
150y

¢) tunica interna d} capiliaries

53 ¥ unica media 2
) tunica extema 0 | in the vaso-constriction?

: oy~
i the following plays the main

" ; Lial helial laye
58) Which o€ ¥ ma  bjunika media ) tunica interna d) endothelial layer
3) tunica eXtETHE v single circuit circulatory system? .
llowing have oniy 5% I
ca\ Which of the follow ¢) sea mouse d) sea lion .
ke mane b) sea horse |
a) sea ane o .
o vally measure . d% nane
§0) 8 isnorma il arte ¢) fenoral artery
" 3\ cadial artery b) brachial artery
\p o capillaries is:
g1y B.Rin t‘r.e;;:plila ie by 60/40 ¢) 20/10 d?} nong \
2 40,48 in the B.P measuring
S sult in the B.
1 wihich of the following gives more accurate dre ) both d) none
a) automatic method b} manual Te:ho i
£3) Cardiopulmonany receptars are must_\! QUG ) both d) none
2) large systemic vein b) right “‘“i'i':d 4
A lea called.
54) Low pressure DaroTeptors afe 50 b] volume receptors
3) cardiopulmonany seceplors
¢ both d) none
7 Ft 7
£5) Low pressure Daroceplors YR +ursusessaseirseeess ERTECE ‘hnth d o
a) crculiato by renal c}
el s ing of B.P?
&6} Which of the following is used in the measuring of B.
3) sphyRrOManomeLer b) stethoscope
aandb .
2 i ; gl ootk reases the risk of atherasclerosis
&7) Hypastipidernia, hyperiension and cigarette smaking inc
SR £ 1L 4 d) norie
al two b} five cl seve!;e e )
68} Reduction of 5 to 6 mmHg can decrease the risk of stroke Upto -.--- 4) 60
al 20 b} 15 to 20 c) 40
69) Which one is not a disease? d) all are diseast
£ all are
a) hypertension b) hypotension c) obesity )
70) The first coronary bypass surgery occurred in: d) none ‘
) 1968 b) 1960 aums |
71) For the first tiime in Dypass SUTGEFY e blOOD VESSELES urterv
a) saphenous vein z:‘ ﬂrhenf::a:nmal‘v ok J[
¢} int | interna rd
0 wﬁihlm n: e bt il l le In the regutation of plogd volume
the following play the most important ro ein 2 o !
a) high pressure baroceptors ) cardiopulrmonany T = |
c\ bt ) none |-
| 73) Whica ane is most commeonly used in bypass sufgery now 2 days? I
\_ a) saphenaus artery b} mammary vein
L & €} saphenous vein d} none I|
}wmc_h one is pumping organ in lymphatic system? a
- 3) spleen b) thymus gland c) tonsils - am?ll ;
SUEkin s disease is the enlargement of lymph NGOG I wareemecreazreee FEB < none
4l abdominal cavity  b) thoracic cavity c) neck region







